INTO Y7 — MEASTREMENT ...

@wnisto_maths

What do | need to be able to do?

Perimeter, Orea and Volme

|
|
: to:

| ¢ Dsply same areas

| * Cakulte area and perimeter
| * Findthe area of atriange
|

|

|

|

|

|

Find the areai of a paralelogram
Find volume by counting cubes
* Find the volume of a cuboid

By the. end of this unt you should be able I

I
I
Qrea: the size of a surface (D shapes) :
Perimeter: the dstance around a 2D shape I
I Volume: the. amount of 3-dmensional space an object takes up (with liqud this is called capacity) |
I| Perpendcular: two lines that meet at 90° :
[ Vertex: a point where two or more-Ine segments meet |
I Face: any of the flat surfaces of a sold object |
Edge: a e segment on the boundary joining one vertex to ancther I
I Commutative: you can swap the order around in the calculation and stil achieve. the same. answer :

I Qe with the crme aon 1 e —————— 1! Povimotor ) |
| Shapes with the same area 1 Or [ Rectangle/ Square area = Base x Height ] | Perlmeter [ Length around the outside of the shape ] |
I 0 the shapes have an area of H I : | | Sem |
: I2cm? — they are. all made up of 1] : | Compound Shapes : | Tem In compound shapes make sure :
12 squares.  ——> - 8cm 8em all the lengths have
I I : Orea of A \ 2cm 2(@@5({ zo B : 7cm measurements I
I The shapes below also have I | The height of X e | | ] |
: the same ared I | shape s Bem . | | |
1T 2x5- oom? |} Permeter = dom + &m + km + 7em + &m + km I
I 05em 2cm BEBE I | 4cm I | i I
| 60:mD wocmEl || |I L“'Gm |
5cm
: e : : Totalarea = Orea O+ Orea® = 10 + 20 = 30cm? : : Perimeter: often asks dbout boundaries or walls in questions :
—————————————— e e e e e e e e e e e e e e ——————————— — — — — — — —
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| Orea of triandles Right-anded triandes | : Orea of paralelograms :
I o be catuiated I |
| red can be 220;(686 by counting The height of a right- 7 cmh | : hﬁ :
| Often this s an estimaiion with triangles i angled triangle | | | : [ Paralelogram = Base x Perpendicular hetdrut} |
I it does ot cut a square in hatf. 2cm | | i | I
: Perpendicular heights : | 4 cm |
| I/ The perpendicular | : :
: A heit ”;?%Ehe base : | Properties of paralelograms |
10em I« Tio sets of pardlel ines |
Notice the relationship between th ) ) I (]
: 0 ‘Ci@;(’eeangﬁe"gmang;@” ¢ Oreq = E x 10 x 4 = 20cm? I : * Four sides (quadriateral :
| | | * lnterior angles = 360° Orea =4 x & = 32em? |
| [Qrm triange = i area of the square } [ Orea triange = = x base. x perpendcuiar height } | | Opposite angles are equal |
2

| | | ° D shape I
e e —_
s -y, = 7 1

Volume (counting cubes) boids Courting cubes

Counting the cubes = Héem?
I Each cube has a given voume. Eg Icm3] i 4 cubes
: A There are 28 cubes on the bottom row and two rows
Obwaus check the units 1% 28x A -56
of measurement
This shape is made. up of
So the vobme 1§ 3cm?

cem Use muttiink cubes to notice
BERE tht vobme can be any

[ Ja] ] shape — it is the number of
cubes that make wp the vale
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Vome can be mm>, [l . . |
om, m3, km? 1 E [ Volme of cuboid = length x width x height } I
I I 4em dem :

|

|

|

I

I

— 1 7em Volme = 4 x 7 x A = Deem?
Don't forget about cubes you can't [ 1| Properties of cuboids
see This is a 3D shape . 3D L !
I shape Remember muttipication is commutative so the
. 3 N .

The volime of this shape is %m? [ 6 \f/;gzzes values can be multipled in any order

I : o 2edges
___________ - __]




